Vassiliev Invariants
Part |11

Evert Stenlund



10,: Qf@@ C?D

Vodd = TV101

Vo _4X3_1

V3 +6Y34

Vy —10x5, + 20x, 4 + 36X3 1

Us +(25y61 — 15y5, + 64y34)

Vg —6x,, +21x¢4 + 35x5, — 70x, 1 — 84x354




102:

)

" OE

Vodd = TV102

Vo ZX3_1

V3 +2y31

Vy 6Xs, —5x51 + 10x, 1 + 15x3 4
Vs +(10ye, + 4ys, —3ys1 + 15y34)

5x7.3 - 5x7_1 + 15x6_2 — 24‘X5_2 + ZSX5_1 - 4‘OX4_1 - 45.X3_1




103 : 8
)
Veven = X10.3 +(\):~]S+

Vodd = TV103

Vo _6X3_1

U3 +3y3.4

Vy —11xc5, + 32x4 ¢4 + 48x3 1

Vs +(8y6.1 — ¥s.2 + 8Y3.1)

Vg 20x77; —8x76 +8Xy5 — 8x73 — 2X7, — 8Xe3 + 24x¢,
+ 24x,4 + 61x55 +4x54 —130x, 1 — 148x5 4




104_:

Veven = X104

Vodd = TV10.4

.7,

172 _SX3_1

V3 +v3.1

Vy —2Xc > — 3Xgq + 26X, 1 + 34x3 4

Vs +(6Y62 —10y61 — 6Ys, + 3y5.1)

v6 _4‘x7.3 + 3x7_2 + 10X6_2 + 17x6_1 + SX5.2
+ 15x541 — 65x,1 — 70x5 4




105: (L\/_/?\ i?a
Veven = 105 RS OO

Vodd = TV105

Vo 4‘.7(,'3_1
V3 +7y31
Vy —9%x5, + 7X51 — 6X41 — SX34
Vs +(4y62 + 7y52 — 5y51 + V3.1)
v6 _4‘x7.5 — 5x7_3 + 5x7_1 + 10x6_3 — 5x6.2
+ 35x5, — 15x5 1 + 20x4 1 — 5x3 4




106: o

Vodd = TV106

V2 —X3.1

U3 +4y34

Vy 3Xg59) —6X51 + 16X, 1 + 27%x54

vs | *(A1yg; +3Y61 — Vs — 2ys1 +23y34)

Vg 3X76 —4Xy5 + 2X73 —2Xx71 + 4Xg3 + 14xg, + 6X6 1
- 8x5_2 + 21x5_1 - 52x4_1 - 63x3_1




107'

- ) T 2
R
e

Vodd = TV10.7

V2 —X31

U3 +3y31

Vy —3x5¢ + 10x, 4 + 18x3 4

Vs +(10yg4 + 2ys, — 3ys1 + 16y3 1)

Vg —17x77 + 8x76 —8x75 + 4Xx73 — X7, +8Xe3 — 14X,
+13x67 —15x5, + 8x51 — 5x4 1 — 6X3,




10g: qq) —
SN

Veven = X10.8

Vodd = TV108

vZ _3X3_1
U3 +4ys3 4
Vy 6X5> — 7X5q + 21X41 + 27%x54
Vs +(12y62 — 3y61 — 3Ys52 + V51 + 9y31)
v6 _x7_3 + 3x7.2 - ZX7_1 + 19x6.2 + 6X6_1
— 16x5_2 + 24x5_1 — 56X4_1 — 60X3_1




Veven = X10.9

10g: % 3
o

Vodd = TV109

Vo —2X3_1
VU3 +2y3.1
Vy 9%5 5, — 7Xx5q + 15x, 1 + 16x3 4
Us +(5Y62 + 2Y52 — V51 +2Y31)
v6 7X7.5 + 2x7_3 — 5x7.1 - 4‘x6_3 + 20x6_2
— 32x5.2 + 24X5_1 — 4‘4X4_1 — 38X3_1




1010'

veven - xlO 10

Vodd = TV10.10

(&) X3.1

U3 +2y34

Vy —3X55 + 3X51 — 6X41 — 8x34

Vs | +(B¥s2—7Y61 — 5YVs52 +3ys1 — 2y34)
Vg 20x77 — 5X76 + 8x75 — 4x73 — 3X75 — 2Xg3 + 20x¢,

— %61 +35x5, — 8x51 — 23x44 — 42x3,




1044: %Q @

Vodd = TV10.11

172 _SX3_1
U3 +4y34
Vy —2Xc > —4xcq + 29x, 1 + 40x3 4

Vs +(8Y62 + Y61 — 5ys52 + 2y51 + 10y34)

Vg 10x77 — x76 + 2x75 — 6X73 + 2X75 — Xg3 + 23X,
+ 16x6_1 + 20x5_2 + 17x5_1 - 95x4_1 - 108x3_1




1012:

Veven = X10.12

Vodd = TV10.12

Vo 4‘.7(,'3.1

V3 16y,

Vy —9%x57 + 6X51 —3X41 + X34

Vs +(3Ye2 — 2Y61 + 4Ys2 —3Ys1 — 2y31)
Vg —2X76 + X75 — 2X73 —3X75 +2X71 + 11xe3 + 2x6,

— 3xgq +31xs5, — 13x5, + 14x,; — 15%3,




105: @

Vodd = iY10.13 W

&

U2 —5Xx3

V3 +2y34

174_ _11X5_2 + ZX5_1 ~+ 20X4_1 + 31XB_1

Vs + (V62 +3V61—3Ys2 + ¥s51 + 6Y31)

Vg 7X77 —9%76 +4X75 — 3X73 — 2X75 — 7Xg3 + SXg,
+ 16x6_1 + 40x5_2 - 4x5_1 - 61x4_1 - 69X3_1




10,: g\,\\o) g
Vodd = TY10.14 W

Vo ZX3_1

V3 +3y31

Vy 7X59 —4X51 + 6X49 + 6X34

Vs +(8y62 — 4¥61+3Ys2 — V51 +3y31)

Vg —2X77 — 3X76 — 2X75 + 2X73 + 3X75 — 2X71 — 4Xg 3
+ 5x6_2 - 17x5_2 + 14‘x5_1 - 14‘x4_1 - 9x3_1




104c: A\ :
(o
Veven = %1015 (N 1) m

+ +

Vodd = TV10.15

Vo 3X3_1

V3 +2y34

Vy —11x5, + 6x51 —4x41 + 3X34

Vs + (Vo2 — 2Y61 — 4Yso + 2y51 + 3y34)

Vg —3X76 — 2X73 — 2X75 + 2Xx71 + 12X 3 + 2X6 5 — 3X¢ 1
+ 31x5_2 - 13x5_1 + 14‘x4_1 - 15x3_1




1046 @7 gw

X
Veven = X10.16 &/Q)

Vodd = TV10.16

172 _4X3_1

U3 +4y34

Vy —4xc 4 + 22x4 1 + 30x3 4

Vs +(4ye2 + 5Y61 — Y52 +8y31)

Vg —2X77 + 2X76 — 2X75 — 2X73 + 2X75 + 2Xe3 + 8Xg,
+ 13x6_1 - x5_2 + 14‘x5_1 - 50x4__1 - 54‘x3_1




107: @)

4 4
N
Veven = X10.17 C\_//T>

Vodd = TV10.17

Vo ZX3_1

VU3 0

V4 —12x5, + 7x57 —8x41 —3%34

Vs 0

Vg |—6X75—4X,3+5x71 + 15x53 — 6Xg5
+42x5, — 19xc 1 + 23x41 — 9x34




w65 PRy

veven - xlO 18 C\)

Vodd = TV10.18

172 _ZX3_1

V3 +v3.1

Vy 5Xc, —4x51 + 10x, 1 + 10x54

Vs | +(8Ys2 — 7¥61 —4Ys2 + 2y51 + 2y34)

Ve |—8Xy7 —X76—4X75 +4X75 — Xg3 — Xe2
+ 4‘x6_1 — 17XS_2 + 11x5_1 — 4X4_1




1049: %7 T
v =50 T

Vodd = TV10.19

(&) X3.1

v3 0

Vy —8Xx5, + 5X51 — 7X41 — SX34

Vs +(4yY62 —4V61 — 2Y52 + V51 + ¥V3.1)
Vg 10x77 —X76 + 2x75 —3X73 — 33Xy, + 2X71 + 7Xg3

+ 6x6_2 - 4‘x6_1 + 38x5_2 _ 15x5.1 — 24x3-1




Veven = X10.20

10,,: Q
e

Vodd = TY10.20 Cj\)

Vo _3X3_1

V3 +6y31

Vy —4xc5 —3x5q + 19x, 1 + 33x3 4

Us +(6Y62 + 9YV61 — SYs2 + 24y31)

Vg |4X76—4X75 — 2X75 + 3Xg3 + 6Xgp + 15X¢ 4
+ 11xc, + 12x5 1 — 62x4 1 — 72X3 4




1021:

Veven = X10.21

Vodd = V1021

V2 X31

VU3 0

Vy 5Xc, —5xg1 + 10x, 1 + 16x54

Vs | *(5ye2 +5Y61 +5Y5, —4ysq1 +15y34)

Vg —12x77 + 6x7¢ — 6X75 + 5x73 — 2x7, + 6Xg3 — 4Xg
+ 7x6_1 - 23x5_2 + 15x5_1 - 11x4_1 - 12x3_1




Veven = X10.22

10,,: % g 3
D

Vodd = TV10.22

172 _4X3_1
V3 +2y34
Vy 5Xg, — 6Xg1 + 23x41 +27%x54

Vs + (Vo2 + 4V61 + 2Y52 — Y51 + 2y31)

Vg 2X76 t 3X75 — 2X73 + 2X75 — 2X71 + X3 + 18X6,
+ 8x6_1 - 14x5_2 + 21x5_1 - 55x4.1 — 59x3-1




Veven = X10.23

Vodd = TV10.23

vz 3X3_1

U3 +5y34

Vy —6X5, + 5x51 — 6X41 — 6X34

Vs +(4y61 + 6Y52 —4ys1 +V31)

v 14x,7 — 4x76 + 4X75 — SX73 — 2X7, + 2X71 + 3xg3 + 13X¢;
6 — 6x¢ 1 + 40%c 5 — 11xe 1 — 11%4 1 — 362 1




1024_:

Veven = X10.24

Vodd = TV10.24

172 _ZX3_1

U3 +5y31

Vy —X5p —4X51 + 16X, + 28x34

Vs | +(4yer +10y61 — Vs, — 2ys1 + 22y34)

Vg —7X77+7X76 —6X75 +2X73 —2X75 + 7Xe3 — Xg2
+ 13x6_1 + 10x5_1 - 36x4_1 - 4‘4‘x3_1




10,c: Z\__,Qj) g w

Veven = X10.25

Vodd = V1025

Vo 0

U3 +2y34

Vy 2Xs > —4x5q4 + 10x4 1 + 18x5 4

Vs | +(4Yer +6Ye1 +2Y5, —3ys1 +17y34)

Vg —8x77 + 6x7¢6 —4x75 + 4X73 — X7, — 2Xx71 + SXg3
+ 7x6_1 - 19x5_2 + 15x5_1 - 22x4__1 - 23x3_1




Veven = X10.26

106 O\
Gpws

Vodd = TV10.26

172 _SX3_1

U3 +2y34

Vy 5Xz, —5Xxg1 + 16x, 1 + 18x54

Vs + Vo2 —6Y61 —4Ys2 + 2y51 — ¥31)

Vg —8x77 + 3X76 + X753+ 2x75 — 2x71 + Xg3 + 5Xg
+ 7x6_1 - 27x5_2 + 18x5_1 - 25x4__1 - 20x3_1




10,,: Q)/) g g

Vodd = TV10.27

vz ZX3_1

U3 +3y34

Vy —3Xs5, + 4x51 — 6X41 — 6X34

Vs +(4v61 + 5Y52 —3ys51 + V31)

Vg 10x77, —3x7¢6 + 2x75 — 4Xx73 — X7, + 2x71 + 2xg3 + 7Xg

— 4‘x6_1 + 31XS_2 - 10x5_1 - 4x4.1 — 21x3-1




10,3: Q//é

3 2

+

Vodd = TV10.28

Vo 3X3_1

V3 +4y34

Vy —6x5, +4x57 —3X41

Vs + Y61+ 3Ys2 — 2Ys1 — 2y34)

Vg 10x77 — 3x7¢6 + 6Xx75 — 2x73 — 4X75 + 5Xe3 + 13X¢;

— 6x6_1 + 30x5_2 - 9x5,1 — 9x4.1 — 32x3-1




1059 V YO 9
SR

Veven = X10.29

Vodd = TV10.29

VZ _4XB_1

V3 +3y31

Vy —4x55 — X591 +17x44 + 24x3,
Vs +(5y62 — S5ys2 + 2ys51 + 7y31)
Vg —2X77 —2X76 —3X75 — 2Xy3 + 2X75 + X771 — X3

+ 12x6_1 + 9x5_2 + 5x5_1 - 31x4_1 - 33x3_1




10301 + /\C_W

Veven = X10.30

Vodd = TV1030

"
ReSRE e

(&) X3.1

U3 Tys3

Vy 6x5, —4x51 + 6X41 + 7X34

Vs +(4y62 +4y52 — 2y51 + 3y34)

Ve —10x77 + x76 — 6X75 + 2Xx73 + 3X75 + Xg3 — 7Xg

+4xg, — 16x5, + 7x51 + 7x4q1 + 13%34




Veven = X10.31

Vodd = V1031

Vo ZX3_1

U3 +Y3.1

Vy —7X5y +4X51 — 4%y,

Vs +(4Y62 — 5Y61 — 4Ys2 + 2Ys1 + 2y31)
Vg 11x;7 — 3x76 + 6Xx75 — 2x73 — 4X75 + 5Xe3 + 13X¢;

— 6x61 + 31xg, — 10x5; — 10x,; — 32x5 4




1032:

Veven = X10.32

Vodd = TV10.32

V2 —X3.1

VU3 0

Vy 6X5, —4x59 + 7x47 + 6X34

Vs +(4Y62 — 4V61 — 2Y52 + V51 + V3.1)

Vg —2X77 — X6+ 2X75 + X73 + X7 — 2X71 — 4Xg3
+ 6x6_2 - 18x5_2 + 11x5_1 - 13x4_1 - 6x3_1




st ()N
\ 7, ’

Vodd = TV10.33

Vo 0

VU3 0

Vy —6x5, +4Xx51 — 6X49 — 6X34

Vs 0

Vg 14x77 — 2X76 + 6X75 — 2X73 — 4X7, + 2Xg3 + 12X¢;
— 6x51 +30x5, —10x54 — 12x, 1 — 30x3 4




1034_:

Veven = X10.34

% |

Vodd = TV1034

Vo 3X3_1

V3 +3ys31

Vy —5X5, + 3X51 — X419 + 3%x34

Vs +(BY62 — 3V61 — Vs5.2)

Ve —4X76 + 4X75 — 4X7, + 6Xg3 + 3X62 — 3Xg 1
+ 25x5_2 — 12x5_1 + 8X4_1 — 12.X3_1




1035:

Veven = X10.35

Vodd = V1035

VZ —4X3_1

V3 +2y34

V34 —9XS_2 ~+ ZX5_1 + 13.X4_1 + 21X3_1

Vs + ez — 5Y61 t V52 — 5Y31)

Vg —3X77 — 7X76 + X75 — 2X75 — 3Xg3 — SXgp + 12x4 4

+ 24‘x5_2 — 6xS.l — 24'X4__1 — 30x3-1




103 @7 ‘gia‘

U 2
Veven = X10.36 bf\—S
Vodd = Y1036

[ ) X3.1

V3 +2y34

V4 6X5, —3X51 +3x41 + X34

Us +(6Y62 — 5Y61 T ¥s5.2)

Vg —3X7 7 — 2X7¢6 —4X75 +4Xx75 — 3Xg 3
+ X611 — 11x5, +9x57 — 4x44




1037: _m

Veven — X10.37 U

Vodd = TV1037

Vo 3'7(:3.1

VU3 0

Uy —8x52 +4X51 — X441 + 6X34

Vs 0

Vg —X77 — 0X76 +4X75 — 4Xx75 + 8x63 + 4Xg2 — X6
+ 28x5, — 13x5¢4 + 11x, 1 — 1454




103g: QK) w
XD ol

Vodd = TV1038

V2 —X31

U3 +2y34

V4 x5, —4x51 +9x49 + 12x3,

Us +(8Y62 —3Y61 — Y52 + 6Y31)

Ve —3X77 = 2X76 — 4X75 + 3X7 + 4Xe 2 + 2Xg 4
— 6Xx5, +9x59 — 12x49 — 14x34




2

1039:

Veven = X10.39

Vodd = TV1039

V2 X3.1

V3 +ys34

Vy 6X5, —4x59 + 6x49 + 7Xx34

Vs +(8Y62 —4YVe1 + 2Y52 — Y51 +4Y31)

Vg 2X77 —4X76 + X73 + 2Xx75 —2X71 — 3Xe3 + 1lxg,
— 2Xgq1 —8x5, + 12x51 — 214, — 23%34




10,4 (G g 2
7

Vodd = TV10.40

Vo 3X3_1

V3 +4ys34

Vy —6X55 + 4Xx51 — 3%y

Vs +(4Y62 —3Y61 + Y52 — V51— Y31)

Vg —4X77 + X76 — 2X75 — X73 — X732 + 2X71 + 8Xg3 — 6X¢
+ x6_1 + 15x5_2 — 9X5_1 + 17X4_1 + 4’X3_1




9

Vodd = TV10.41

172 _ZX3 1

U3 +2y31

Vy —Xgp —Xs1 +7x41 +10x54

Vs + (V62 — 5V61— V52 + Y51 — 4Y31)

Ve | —10x77 +Xx76 = 5X75+Xx73 + X7, + X741 + 3%X63
—10xg, + 7Xg1 —3X55, + 7X41 + 7X34




10,,: QQ 2
!

+ +
—_— + .—J
Veven = X10.42 C B
+

Vodd = TV10.42

Vo 0

V3 +y31

Vy —Xgp + X591 — 2X49 — 3X34

Vs +(2y62 —3Y61 — 2Y52, + ys1 +V31)

Vg 11x77 —X76 + 6X75 — X753 — 3X7, — X771 — Xe3 + 12X¢,
— 5xgq +14x5, —3x57 — 15x4 1 — 23x34




10,3: (%j § g
Veven = X10.43 <\\ _
Y

Vodd = TV10.43

Vo +2X3_1

VU3 0

Vy —2Xs5, + X541 + 3Xx34

Vs 0

Ve | 2X77 —4X76+ 6X75 —4x75 — X741 + X3 + 8%
—4x61 +20x5, —8x57 — Sx49 — 17x3,4




o 20 AP
(B

Vodd = TV10.44

Vo 0
U3 TY31
Vy 2X52 — X514 + X4
Us (Vo2 — Y61+ Y31)
Vg | —6X77+X76— X751 3x72 +X71 — TXe2
+ 3x51 — 10x5, +4x51 +8x44 + 13Xx34




104 (\Q § g
=L
Veven = X10.45 C(;@

Vodd = V1045

Vo —2X3_1
VU3 0
Vy —2X55 + X591 +2%49 + X34
Vs 0
Ve | 6X77 +4x75 — 2X75 — X771 — X3 + 6X6 2
— 2X6q +4X55 — X591 — 7X47 — X34




2

3P
(3]

104-6:

Veven = X10.46

)

Vodd = TV10.46

Vo 0

U3 +4Y34

Vy —6x5 1 + 18x, 1 + 36x3 4

U4: +(15y6.2 + 4Y61 — 6Ys5.2 — 2Y51 +43Y3.1)

1
3 (148x7 7 + 29x, ¢ + 2x7 ¢ + 16x7 3 — 19x- 5

— 4‘OX7_1 - 11X6_3 + 297X6_2 + 10x6.1
— 74x55 + 305x51 — 831x4, — 942x5,)




10,4-: (é\é% C@Z?)
Veven = X10.47 b\) @

Vodd = TV10.47

Vo 6X3_1

V3 +11y34

Vy —12x55 + 8x5¢4 + 3x41 + 9x3 4

vs | +(10ye, —16Y61 + ¥s2 — 3Ys1 — 5Y3.1)

Vg %(—348x7_7 +109x, ¢ — 134x, ¢ + 48x,5; — 19x, ,
+ 40x, 1 + 253x53 — 359x,, + 90x¢ 4
—98x5, — 119x5 4 + 793x,, + 618x4 )




104-8:

LSS
e

Veven = X10.48 -

Vodd = TV10.48

Uy 4x4 4

VU3 0

V4 —17%5, +8x51 — X417 +13%x34

Us +(6Y62 — 8Y61 — 6Ys52 +3Ys1 + ¥31)
Vg %(—220x7_7 +13x,6 — 102x, ¢ + 8x,5 + 13x,,

+ 40x7_1 + 221x6_3 - 207x6_2 + 26x6_1
+ 86x5, — 143x5; + 633x,, + 402x5 1)




10,9: X\
49 @\j |

Vodd = TV10.49

Vo 7X3_1
VU3 i16y31
V4 —12x5_2 + 10x5_1 + 3X4_1 + 4‘X3_1

Vs | F(15y62 — 26y61 + 14ys, — 9ys — 24y31)

1
Vg 5 (7268x77 +373x76 — 110x75 + 64x73 — 147x7,

+ 24%x74 + 181x63 — 383x6, + 242x44
- 258x5_2 + 129x5_1 + 65x4_1 - 54—X3_1)




10¢,: %% gm

Veven = X10.50

Vodd = TV1050

V2 _—x3_1
VU3 +5Y3 4
V4 —X5p —5Xs51 + 17x44 +33x3,

Vs | (962 +8y61 —4Ys5, — 2Ys1 + 34y34)

1
g (64‘x7_7 + SOX7_6 — 20x7_5 + 12x7_3 — 26x7_2

— 16x71 + 26x63 + 150x6, + 56x¢4
+ 16x5, + 166x5, — 570x,; — 664x5 )




Veven = X10.51

10<,: @ 3 §

Vodd = V1051

Vo 5'7(:3.1

VU3 i8y3.1

V4 —8x55 + 5x51 + 3x41 +9%x3,

Vs . +(8y62 — 13y61 — 3Y52 — 4y3.1)

v6 § (_240x77 + 58x7_6 - 68x7_5 + 4‘4‘x7_3 - 26x7_2
+ 16x7_1 + 170x6_3 - 234‘x6_2 + 56x6_1
— 48xc, — 98x5 1 + 534x,, + 408x3,)




1052:

EPex

Veven = X10.52 u w
tY10.52

Vodd = T
Vo 3'7(:3.1
VU3 +y3.1
Uy —10x5, + 5Xx51 — 2x41 + 6X34
Vs +(8ys2 — 10¥61 — 6Y55 + 3y54)
Ve g (—32x77; — 6X7¢ — 4x75 — 4x73 — 26X7
+ 16X7_1 + 114‘X6_3 — 26x6_2 — 16x6_1
+ 232xc, — 138xc 4 + 214x, 1 + 8x3 1)




Veven = X10.53

0w ) GAP
A

Vodd = TV10.53

Vo 6'7(:3.1
V3 +13y3,
V4 —6X5, + 6Xx51 + 3x41 + 3%x34

U4: +(9Y62 — 17y61 + 6Ys52 — 5¥51 — 14y31)

1
3 (—152x,, + 218x, 4 — 44x5 < + 52x7 3 — 98x- 5

+ 90x6_3 — 210x6_2 + 144X6_1 — 192XS_2
+ 102x54 — 26x41 — 72x34)




105,: &ﬁ/g C@)

2
A
veven — x10.54 L/ w
Vodd = Y1054

Vo 4x3.1

VU3 +2y3.1

V4 —13x5_2 ~+ 6x5_1 + X411 + 13X3_1

Vs , +(BY62 — 4V61 — 3V3.1)

ve 8 (=176x77 — 14x7¢ — 44x75 + 20x73 — 10x7
+ 16x, 1 + 154x, 3 — 138x, + 8x¢ 1
+ 64xc, — 114xc 1 + 470x, 1 + 288x5 1)




10ss: /\\, pVATE

Veven = X10.55 d m

Vodd = TY10.55

Vo 5'7(:3.1

V3 +10y31

Vy —6Xx5, + 5X51 + X471 +3%3,4

vs | F(10ye, —16y61 + 6Ys52 — 3¥51 — 19y5,4)

1

Ve 5 (7104x7;7 + 194x7 6 — 20x75 + 36x7.5
—106x5 5, + 74x53 — 170x5, + 136X ¢
— 48x5, + 62x51 — 114x,, — 216x3 1)




10, (\/ﬁ) :

Vodd = TY10.56 m

Vo 0
V3 +2y34
Vy 2Xs > —4x5q4 + 10x4 1 + 18x5 4
Vs . +(10y62 — 2y61 — 4ys, + 18y3 1)
Ve 3 (48x77 — 22x76 — 4X75 + 4x73 — 44x7, — 16X74
- 30x6_3 + 126x6_2 + 50x6_1 + 210x5_2
+ 134x5_1 - 580x4_1 - 852x31)
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Veven = X10.57

Vodd = V1057

Vo 4x3.1

VU3 i6y3.1

V4 —6X52 + 4x51 + 4x34

Vg . +(6Y62 —8Ys1 — 2Y52 — 2Y31)

Ve 5 (—152x77 + 42x76 — 52x75 + 20x73 — 1017
+ 16x7, + 114xg5 — 162x., + 48x4 4
— 8x5, — 66x51 + 326X + 240x3 ;)
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Veven = X10.58

)
X 131

75K )
8@/\3

Vodd = TV1058

172 _4X3_1

V3 +v3.1

Vy —10x55, + 3x5¢4 + 11x,4 1 + 18x54
Vs +(2y62 — 4Ve1 t+ V52 — 4V3.1)

1
3 (36x77; — 73x76 + 30x75 — 8x,3 — 25x7,

— 41x6_3 + 3x6.2 + 62x6.1 + 282X5_2
— 85x:4 — 197x,, — 266x3 1)




10c,: ﬁ() w

Vodd = V1059

Vo :X3_1

VU3 +y3.1

Vy —Xs5 1 + 4‘-76'41._1 + 6X3_1

Vs : t (V62 + Y61 — Y52 +4Y31)

o 8 (—36x77 — 9x76 — 26X75 + 7x7, + 8x7 4
+ 7xg3 — 37X + 22%61 + 265
— 13x5_1 + 433(.'4_1 + 30x3_1)
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Veven = X10.60 +\=——"

Vodd = TV10.60
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@
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V2 :x3_1

VU3 V31

V4 —3X5, + X571 + %41 +3%x34
Vs +(2y62 — 3V61 t+ V52 — 3Y3.1)
Ve

3 (—12x77 — 9x76 + 6x75 + 8x73 — X7

— 8X7.1 — 17x6.3 - 5x6_2 + 14x6_1
— 62xc, + 35x5; — 53x,, — 18x34)
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Veven = X10.61 CN @
Vodd = TY10.61

Vo —4X3 1

VU3 ¢53’3.1

Vy Axcr, — 7TXc 1 +27x4 14 + 363

U4: +(18y62 — 8Y61 — Y52 + 4ys1 + 12y34)

1
g (108x7_7 — 13.X7_6 + 22x7_5 — 40x7_3 + 35x7_2

— 16x71 — 29%63 + 287x6 5 + 5444
— 4655 + 255%51 — 793x4, — 850x3,)
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Veven = X10.62 (\/;+ w

Vodd = TV10.62

U, 5X31

U3 +9y3.1

Vy —11x5, + 8x51 — 3%44

Vs +(8y6.2 — 8Y61 + 4Y52 — 4Ys51 — V3.1)
Ve %(_132957.7 +51x76 — 66x75 — 8x73 — 13x7,

+40x7, + 163x63 — 153x6, + 38x¢4
+ 154x:, — 121xc4 4+ 375x4, 1 + 150x4 1)




Veven = X10.63
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Vodd = TV10.63

Vo 6X3_1

V3 +14y34

V4 —X52 + 5X5q + X49 — 6X34

vs | +(4Y62 —8Y61 + 2Ys, — 6Y51 + 6Y31)
Vg

1
g (—4‘4‘X7_7 + 115X7_6 — 1OX7_5 + 24‘X7_3 — 61X7_2

+ 19x, 3 — 81x5, + 86x51 — 54x5 5
+ 71x5_1 - 169x4_1 - 210X3_1)




Veven = X10.64

1044: @ g
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Vodd = TV10.64

Vo —3X3_1
VU3 +3y3.1
Vy Oxc >, — 8xcq + 21x44 + 2434
Vs 11'(103’6.2 —4ye1 — 2Y52+ Y51 +4Y31)
Ve 3 (76x77 — 13x76 + 78x75 — 8x73 + 3x75, — 40x74
- 37x6_3 + 279x6_2 - 10x6_1 - 166x5_2
+ 223x5_1 - 577x4__1 - 594‘x31)
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Veven = X10.65

Vodd = V1065

Y
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Vo 4‘.7(,'3_1

V3 +7y31

Vy —6Xx5, + 5X59 —3X41 — 2X34
Vs +(4Y62 —4Y61 + Y52 — 2Y51)
Ve

1
3 (—20x77 + 27x7¢ — 10x75 — 8x73 — 21x7,

+ 16X7_1 + 91X6_3 — 25X6_2 + 6x6_1
+ 162xc, — 73x51 + 95x,1 — 82x5 1)
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Veven = X10.66

Vodd = TV1066
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<
7X3 1

V2
V3 +17y34
V4 —6X5, + 9x51 — 8x34

U4: +(7y62 — 10y61 + 8ys, — 11ys4 + 11y5,4)

1
3 (—116x,, + 147x, ¢ — 50x5 ¢ + 16x7 3 — 53x- 5

+ 24x7_1 + 59x6_3 — 169-%6.2 + 110x6-1
— 110x5, + 55x5 1 + 7x41 — 18x3 1)
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Veven = X10.67
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Vodd = TV10.67

Vo 0

VU3 0

Vy 6x5, — 4x51 + 6X44 + 6X34

Vs t(4ye2 +4Ys2 — 2y51 + 2y31)

Vg —6X77 —4X75 + X753+ 2X75 + 2Xg3 — Xg2
+ 2Xg1 — 6X55 + SX51 — 3X34




1068:

Veven — X10.68 U_ @
Vodd = TY10.68

Vo ZX3_1

V3 +3y34

Vy —5X5, +4x51 — 6x41 — 6X34

Vs +(4ye2 — 8Y61 — 7Ys2 +4Ys1)

Vg 24x77 — 7x76 + 10x75 — 5X73 —4X75 — X3 + 26X 7
- 11x6_1 + 4‘6x5_2 - 10x5_1 - 30x4_1 - 57x3_1




() 2X34

V3 +4y34

V4 DX5p — X571 — X471 — 6X34

Vs + (V62 — 2Y61 + 6Y52 — ¥s51 — 10y34)
Vg —4Xx77 + X76 —3X75 + 2X75 + X771 + 3X63 — SXg 7

+ X1 + X5 —3x57 +12x4 1 + 10x5,
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Veven = X10.70 CQ) m

Vodd = TV10.70

172 _SX3_1

V3 +2y34

Vy —2X57 — X541 +11x44 + 15x3,
Vs + (V62 +3V61 — Y52 + 5¥3.1)
Ve

1
3 (—84x;7; — 3x76 — 38x75 + 4x73 + 9x7,

+ 8x7.1 + 21x6_3 - 75x6_2 + 78x6_1
+ 10x5, + 5x54 — 11x41 — 34%3,4)
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veven xlO 71 C\

Vodd = TV10.71

vz X3.1

v3 0

Vy —X5, + X591 — 2X41 — 2X34
v5 0

1
3 (52x77, — 19x76 + 42x75 — 4x73 — 23x,

—8x71 — 3Xg3 + 69x6, — 26X¢ 4
+ 114xc, — 27x51 — 99x, 1 — 178x3 1)
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veven - xlO 72

Vodd = TV10.72

Uy 2X3 1

U3 +4y3,4

V4 8x52 — 3x51 + 2x47 —3%34

Vs | £(9Y62 —10y65 + 2ys5 +y51 — 8y31)
Vg é(44x7_7 — 59%, ¢ 4+ 10X, c — 4%7 3 + 41x,, — 16X 4

- 75x6_3 + 101x6_2 - 34‘x6_1 - 118x5_2
+ 117x5_1 - 171x4_1 - 106x31)
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Veven — X10.73 QQ

Vodd = TV10.73

V2 X3.1
U3 +2y34
V4 4X57 — X591 — X471 — DX31
Us +(BY62 — 5¥61 + 3Y52 — 9¥31)
Ve %(20957.7 —19%76 — 6x75 — 12x73 + 17x7,
+ 8x5 1 + 5x¢g3 + 21x5, — 26X4 4
+ 66xc, — 35xc 1 + 61x, 1 + 30x5 )
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Veven = X10.74 m
Vodd = TY10.74
Vo 0
VU3 +2y3.1
Vy 2Xs > —4x5q4 + 10x4 1 + 18x5 4
Vs +(5Y62 —5Y61 — Y52+ ¥s1 — 4Y31)
v6 —60X7.7 - 9x'7_6 - 50x7.5 + 5x7_3 + 20X7_2
— 11x6_3 — 38x6_2 + 53x6_1 — 67X5_2
+ 110x5_1 - 134‘x4_1 - 187X3_1
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Veven = X10.75 C(w/) 2

Vodd = TV10.75 @

Vo 0

U3 +Y31

Vy —3X5, + X541 +3X34

Vs +(Bys2 —¥s1 — 3y3.1)

Ve 4x77 —X76 + 2X75 — X741 — 3X63 + SXg2 — X61
— 6x5, + 5x57 — 12x4 1 — 6X34




Veven = X10.76
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Vodd = TV10.76

172 _ZX3_1

V3 +6y34

Vy —X5, — OX5q +19x4 4 + 34x3,
Vs +(12y6, + 4ye1 — 6Y5, + 28y3)

1
3 (76x77 + 31x76 — 18x75 — x75 — 16x7 4

- x6_3 + 179x6_2 + 62x6.1 - 4‘6x5_2
+ 211xc 1 — 653x4,1 — 690x5 ;)
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Veven = X10.77 <§)Q+

Vodd = TV10.77 ’
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Vo 4‘.7(,'3_1
VU3 i5y3.1
V4 —9%55 + 5x51 + 7x34

Vs +(5Y62 — 6Y61 t+ V52 — V51— 4Y3.1)

1
3 (—100x7 7 + 7x7 ¢ — 26Xx7c + 8x753 — 17x5 5

+ 16x7_1 + 111X6_3 - 93X6_2 + 6x6_1
+98x5, — 101x5; + 315x,, + 174x54)
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Veven = X10.78

L\

Vodd = TV10.78

Vo 3X3_1

U3 +5Y34

Vy —X5o + X591 + X491 +3Xx3,
Vs +(4Y62 — 7Y61 + Y52 — 11y3 1)
Ve

1
g (—20x7_7 + 63x7_6 + 6X7_5 + 16X7_3 — 4‘1x7_2

— 8x71 +7x63 — 37x5, + 46X4 1
— 30x5, + 43x51 — 109x, 1 — 1223 1)
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Veven = X10.79

Vodd = TV10.79

Vo 5'7(:3.1

VU3 0

V4 —21x55 +9x5 1 +4x41 + 24x3 4
Vs 0

1
Ve 3 (—468x,, + 31x,, — 170x,c + 56x- 3 + 31x,,

+ 4‘0x7_1 + 311x6_3 - 4‘13x6_2 + 62x6.1
— 222x55 — 125x5, + 1139x,4, + 966x3,)
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Vodd = TV10.80

Vo 6'7(:3.1
VU3 i12y31
V4 —15x5_2 + 9x5_1 + BX4_1 + 12X3_1

vs | +(19y62 —32y61 + 16y5, — 5y51 — 48y31)

1
Ve 5 (728077 + 436x7,6 — 120x7 5 + 6817 3 — 184x7,

+ 24%x74 + 220x63 — 432X6, + 284%44
— 1805, + 120x5; + 324, — 172x3;)
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Veven = X10.81 4
Vodd = TY1081

Vo 3X3 1

VU3 0

V4 —SXg52 + 2X51 +2X49 +9X34
Vs 0

1
3 (—132x77 — 7x76 — 6x75 + 32x73 — 15x7,

— 8x7_1 + 57x6_3 — 99-’)6'6.2 + 26x6-1
— 74x5, — 27%59 + 213x49 + 194%x3 ;)




Vodd = TV10.82

104, @ @)
R

V2

V3 0

V4 6x5, —4x51 + 6x41 + 6X34

Vs +(2y62 +2Y52 — Y51 + Y31)

Vs %(—72x7_7 + 14x5 ¢ + 12%7 5 + 32x, 3 + 14x5,
— 32x71 —42x¢3 + 6Xg, + 28x¢ 4
— 364xc, + 174xs 1 — 130%, 4 + 36%x54)
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Vodd = TV10.83

U2 X3.1
V3 +2y34
Vy —3X5, +3x59 — 6X41 — 8X34

Vs +(7y62 — 5Y61 — 3Y52 + 51 + 4V31)

1
3 (64x, - + 14x; ¢ + 20x5c — 20x7 3 — 30x- 5

+ 16x7 1 + 46x53 + 18x5, — 24x4 4
+ 272xc 5 — 134xc 1 + 50x,; — 96x3 ;)
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Veven = X10.84 \K :
Vodd = TY10.84 @

Vo 2'7(:3.1
V3 +2y34
V4 —5X55 + 3X51 — 3X41

Vs +(6Y62 — 6Y61 — 2Y52 + V51 — V3.1)

1
3 (20x5 5 + 13x7 ¢ + 2x7¢ — 12x7,3 — 23x7 5

+ 16x7 1 + 61x53 — 11x5, — 10x4 4
+ 210x5, — 115xc 1 + 101x, 1 — 18x3 1)
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Veven = X10.85 %JJT)

Vodd = TV1085

Vo 2'7(:3.1
V3 +3y34
V4 —OX5 +4Xx51 — 6X41 — 6X34

Vs +(10ye, —8y61 — 3Ys52 + V51 + 3y3.1)

1
3 (24x77 + 30x7 ¢ — 4x75 — 24x,3 — 34x;,

+ 32x7,1 +86x53 — 50x,, — 4x¢ 1
+ 348x5, — 202x5 1 + 190x, 1 + 12x5 1)
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Veven = X10.86 U_\—/

Vodd = TY1086 m

Vo :X3_1

VU3 +y3.1

V4 x5, — 3x51 + 6X49 + 6x34

Us . +(2Y61 + 2Y52 — ¥51)

Ve S (—120x, 5 + 30x, c — 28%7 5 + 28x, 5 + 26,
— 16x, 1 — 10x53 — 70x¢, + 56x¢ 1
— 352xc, + 146x5 1 — 6x, 1 + 144x5 ;)
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Vodd = TY10.87 m

Vo 0

V3 Tys34

V4 5X5, — 3X5q +4x44 +3%x34
Vs + (V62 — Vo1t V31)

Ve

1
3 (—20x7 7+ 5x7 ¢ + 10x5 ¢ + 12x7 53 + 9x5

— 16x71 — 35%63 + 21x6, + 6X¢1
— 182xc 5, +93x5; — 83x, 1 + 14x5 ;)
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=
Vodd = V1088

Vs —X3.1

V3 0

Vy —3x5_2 + ZX5_1 — 2x4.1 - 3x3-1

Usg 0

1

oo 8 (52x77 = 3x76 + 34x75 — 19x7; — 8xy4
—_ 3x6.3 + 49x6_2 — 22x6.1 + 54x5.2
— 15x5, — 63x41 — 102x5 )
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Veven = X10.89 -

Vodd = TV10.89
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[ ) X3.1

V3 +3y31

V4 7X5p — 2X51 — X471 — 8X31

Vs | +(2y67 —4Y61+6Ys2 — Y51 — 12y31)
Vg

1
3 (52x77 — 3x76 + 2x75 — 16x,3 + 13x7,

+ 8x7.1 + 5x6_3 + 4‘9x6.2 - 38x6_1
+ 86x5_2 — 39X5_1 + 33?(.'4_1 — 6x3_1)
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Veven = X10.90

Vodd = TV10.90

Vo —3X3_1

VU3 +y3.1

Vy 4x55 —4x51 + 14x47 + 15%34

Vs : +(2y6.2 + ¥3.1)

ve 8 (—=88x77 + 22x76 — 12x75 + 12273 + 26X,
— 16x71 — 2X63 + 2Xx6 5 + 64x6 1
— 280xc, + 162xc 1 — 150x, 1 — 72x3 1)
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Vodd = TV10.01

vz ZX3_1
v3 0
Vy —9%5, + 5X51 — 5X44

Vs +(6Y62 — 8Y61 — 6Y52 + 3V51 + V3.1)

1
v6 §(52x77 - 15x7_6 - 14‘x7_5 - 32x7_3 - 15x7_2 + 32x7_1

+89x3 + 13x6, — 30x6,1 + 3825,
—171xg; + 133x,; — 102x5;)




Vo ZX3_1

V3 +3y34

Vy x5y —2X51 +3X41 +3X34

Vs +(7y62 — 6Y61 — V52 + Y51+ 2Y34)

Vg —X77 —4X76 — X75 + X735 +4X75 — 2X71 — TXg3
+ 5x6_2 - 23x5_2 + 17x5_1 - 17x4_1 - 6x3_1




1093:

Veven = X10.93

24
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Vodd = TV10.93

vz _.X'3_1
v3 +y3.1
Vy —6X5, +4x51 — 6X41 — OSX34

Vs | £(10ye, —12y671 — 8yso +4ys1 + ¥31)

1
Vg S (160x, 5 — 26x7 ¢ + 52x75 — 36X7 3 — 46X,

+ 16x7 1 + 46x63 + 130x5, — 72x¢4
+ 480xs, — 182xc 1 — 62x, 1 — 328x3 1)




Veven = X10.94

Vodd = TV10.94

172 _ZX3_1
V3 +2y34
Vy 6Xs, —5xg 1+ 12x,41 + 13x3 4

Vs +(7y62 — 4V61 — 2Y52 + Y51 + 2Y31)

1
v6 g (_28x7_7 + x7_6 + 26x7_5 + 16x7_3 + 17x7_2 - 32x7_1

— 39x6.3 + 93%62 + 18x61 — 306Xs,
+197x5, — 267x4, — 166x3,)




1095:

Veven = X10.95

Vodd = TV10.05

Vo 3X3_1

U3 +5y31

Vy —3X5, +3X51 —3X41 — 3X34

Vs +(BY62 — 2Y61 — Y51t Y3.1)

Vg | 3X77 T X76 = 2X73 = 2X75 +2X71 + 6Xg3 — X1
+ 25xc, — 11xcq + 7x41 — 9x3 4
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Veven = X10.96 ¥

Vodd = TV10.96

172 _SX3_1
V3 +2y34
Vy —5X5, + X591 +8x41 + 12x3,
Vs +(2Y62 —5Y61 + Y52 — 4Y3.1)

1
3 (—92x-5 7 + 5x7 ¢, — 22x7 ¢ + 20x7 5 + 9x5

— 8x71 — 11lxg3 — 91xe, + 86%6 4
— 158xc, + 69x5; — 51x,, + 38x5 ;)




1097:
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Veven = X10.97 2

Vodd = TV10.97

Vo ZX3_1

V3 +4ys3,

Vy 11x5, — 5x51 + 5X44

Vs | +(6Yg2 —4Ve1 +8Ys, —2y51 —8y34)
Ve

1
g (_6OX7_7 — 11x7_6 — 46X7_5 + 12.X7_3 + 4‘1x7_2

— 19x53 — 43x5, + 14x5 1 — 134x55
+ 53xc, + 77x41 + 158x5 )




1098:

Veven = X10.98

Vodd = TV10.08

Vo 0
VU3 ¢3:)/3.1
V4 _2x5.2 — SX5_1 + 11X4_1 + 24‘X3_1

Vs | +(4ye2 +8y61 —3V5, — 2Ys1 + 28y34)

1
Ve 3 (—44x77 + 75%76 — 42X75 + 32x73 — 13x7,

- 16x7_1 + 27x6_3 - x6_2 + 78x6_1 - 198x5_2
+ 167x5_1 - 281x4_1 - 234‘x3_1)




v3 0
Vy —14xc5 + 6X51 + 2X41 + 16Xx3 4
v5 0

1
V6 | 2 (-200x;7 + 6176 — 84x75 + 16175 + 6375 + 327,

+ 182x6_3 - 194x6_2 + 12x6_1 + 52x5_2
— 146x: 1 + 638x, 4 + 492x5 )
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Veven = X10.100

Vodd = TY10.100

Vo 4‘.7(,'3_1
V3 +7y31
V4 —6X55 + 5Xx51 — 3X41 — 2X34

14 +(14yg, — 16y61 — 7ys52 + 2y51 + 2Y31)

1
§ (_76x7_7 + 81x7_6 — 3OX7_5 — 4‘7X7_2 + 32x7_1

+ 161xg3 — 131x5, + 34x51 + 262x< 5
—195xc; +317x41 + 98x3 1)
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veven - x10.101
Vodd = TV10.101

Vo 7X3_1
U3 +17y34
V4 —3X55 + 7Xx51 + 3X49 — SX31
U4: +(7y62 — 14Y61 + 2ys2 — 8ys1 + 10y34)
Ve —18x7 7 + 23x7 ¢ — 4x75 + 7x73 — 10x, 5, + 9x¢ 3
— 23%g5 + 15x51 — 29xc, + 10x5 1 + 3x34
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Veven = X10102 %\/)? m

Vodd = TV10.102

172 _ZX3_1

V3 +v3.1

Vy 5Xc, —4x51 + 10x, 1 + 10x54
Vs +(2y62 — 5Y61 — 4Y52 + 2Y5.1)
Ve

1
g (_96x7_7 + 22x7_6 — 1ZX7_5 + ZOX7_3 + 18X7_2

— 16X7_1 — 2X6_3 — 22x6_2 + 48x6_1
— 272x55, + 130x5 1 — 62x,4 1 + 24x3 1)




veven - x10.103

Vodd = TV10.103

Vo 3X3_1

V3 +4ys3,

Vy —6X5, +4X51 — 3X44

Vs +(10yg, — 11yg 1 — 5ys5, + 2Ys54)
Ve

1
3 (—16x7; + 30x76 + 4x75 — 4x,3 — 38x7

+16x71 + 102X 3 — 38x4, + 2325,
— 142251 + 16224, — 1623,)
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Veven = X10.104 (_/Q @

Vodd = TV10.104

(&) X3.1
v3 0
Vy —8Xx5, + 5X51 — 7X41 — SX34

Vs +(6Y62 — 8Y61 — 6Y52 + 3V51 + V3.1)

1
Ve 5 (56x,; — 10x, s — 20x7 5 — 32x73 — 10x, , + 32x 4

+ 70x6_3 - 2x6_2 - 20x6_1 + 356x5_2 - 154x5_1
+ 102x4_1 - 108x31)
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Veven = X10.105 Q
Vodd = TY10.105
vz —X31
v3 0
Vy 3Xc oy — 2Xc1 +4x4q4 + 3X34

Vs +(4Y62 — 4V61 — 2Y52 + V51 + V3.1)

1
g (—108x7, + 13x5 ¢ — 62x7c + 8x73 + 37x-,

+ 8x,1 + 5xg3 — 103x,, + 50x4 4
—178xc, + 65xc; + 113x,; + 186x5 1)
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Veven = X10.106

Vodd = TV10.106 m

Vo :X3_1
VU3 +y3.1
Vy 7X52 — 5X51 +9%41 + 9%3,4
Vs | +(3Ye2 + 2Y52 — Y51+ ¥31)
Ve 8 (—40x77 + 6x76 + 28x75 + 24x73 + 6X7;,
— 32.X7_1 — 34x6_3 + 62x6_2 + 12x6_1
— 284xc, + 158x: 1 — 186x, 1 — 84x3 1)
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Veven = X10.107 %

Vodd = TV10.107

(&) X3.1
U3 Tys3
Vy —3X55 + 2X51 —3X41 — 2X34
Vs tys34

1
3 (84x;7; — 11x7¢ + 50x,5 — 8x73 — 27x7

— 8x71 + 5xg3 +97x5, — 38x4 1
+ 134xc, — 31xs 1 — 127x4 1 — 2145 4)
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Veven = X10.108 ) \/
o

Vodd = TV10.108

VU3 O

V4 —6X5, +4x51 — 6X41 — 6X34

14 +(10y6, — 12y61 — 8ys2 + 4ys1 + 2y31)

1
g (128x7_7 — 18X7_6 + 36X7_5 — 28X7_3 — 38x7_2

+ 16x, 1 + 38x53 + 82x5, — 56x4 4
+ 400x5, — 166X — 6x, 1 — 216Xx3 1)




10109: (,\

D

Veven = X10.109

Vodd = TY10.109

Vo 3'7(:3.1

VU3 0

Vy —12x55 + 6x51 — 3%41 + 6X34

Vs 0

Ve —12x77 + X76 — 8X75 — X73 + X7 +4X74
+ 17x53 — 14x5, + 2Xx54 + 18x5 5
— 14x5 1 +42x, 1 + 21x34




10110:

JENNIAN

Vodd = TV10.110

Vo —3X3_1
VU3 +3y31
V4 —X5, — 2X51 +13x44, + 18x3,4

Vs +(4Y62 + Y61 — 3Y52 + Y51 + 6Y3.1)

1
3 (=76x77 + 5x7 ¢ —46x7 < + 21x5 5 + 8x- 4

+ 13x6.3 - 55x6.2 + 82x6_1 - 50X5_2
+49x5 1 — 71x41 — 54x34)




10111:

Veven = X10.111

Vodd = TV10.111

U2 .

VU3 0

Vy 2X59 —3X51 + 7X41 + 1354

Vs | £(10yg — 5Y61 — 5Ys2 +¥s51 +15y34)

Vg 7X77 —5X76 + 2X75 — 2X71 — TXg3 + 15X — 2X64
- 8x5_2 + 17x5_1 - 35x4_1 - 33x3_1




Vodd = TV10.112

10112: @9
i
Veven = X10.112 \_) m

Vo 2'7(:3.1

VU3 i2y3.1

Vy X5y — X571t 3X41 +6X34

Vs . + (Y62 + 3y3.1)

ve 8 (—136x77 + 30x76 — 28x75 + 40x73 + 30x7
— 24‘X7_1 - 26x6_3 - 98x6_2 + 6Ox6_1
— 460xs, + 182xc 1 + 14x, 1 + 252x5 )




10113: /E)f)
s @

Veven = X10.113

Vodd = TV10.113

O O
Vo 0
V3 3.1
Vg4 —3x5_2 ~+ X5 1 ~+ 3.7(,'3_1
Vs + V62 — 2V61 + Y52 — 3Y3.1)

1
g (36X7.7 + 5x7_6 - 6x7.5 - 12x7.3 - 15X7_2

+ 16x7_1 + 29x6.3 - 3x6_2 - 10X6_1
+ 186x5_2 — 99XS_1 + 69X4_1 + 6x3_1)




10414 S

7 —_
. + -..,_ ~ +
veven - x10.114 @

Vodd = TV10.114

vz X3.1

v3 in.l

Vy 3X5, — 2X51 + 3X41 + 4Xx34

Vs . + (V62 — 2V61 — 2Y52 + V51 — ¥3.1)

Ve S (—152x5 5 + 38x, c — 44%, s + 36X, 5 + 34x,
— 16X7_1 — 18x6_3 — 126x6_2 + 72x6_1
—432xc5, + 162xc 1 + 50x, 1 + 272x5 1)




10115:

Veven = X10.115

Vodd = TV10.115

() X3.1

V3 0

Vy —5Xc, +3Xg1 —4x41 — 2X3 4
Vs 0

1
3 (84x;7; — 11x7¢ + 50x75 — 8x53 — 27x7,

- 8x7_1 + 13x6_3 + 97x6_2 - 38x6_1
+ 134xc, — 31xc 1 — 127x4 1 — 222%3 1)




Vodd = TV10.116

104 @ (@D
' Y

Vo 0
VU3 0
V4 3X55 — 2X51 + 3x41 + 3X34

Vs +(4Y62 — 4V61 — 2Y52 + V51 + V3.1)

1
g (_68X7_7 + 7X7_6 - 2x7_5 + 24‘x7_3 + 23x7_2

— 24‘X7_1 - 41x6_3 - 13x6_2 + 3Ox6_1
— 334xc, + 163xc 4 — 101x,; + 54x5 )




104417 @ 2

QLG
Veven = X10.117 +d*

Vodd = TV10.117

Vo ZX3_1

V3 +3y31

174_ _ZX5_2 + ZX5_1 - 3X4_1 - 3x3_1
Vs +(3Y62 — 2Y61 — V52 + ¥3.1)
Ve

1
3 (56x77 — 2x76 + 12x75 — 20x73 — 22,

+ 16x7_1 + 38x6_3 + 26x6_2 - 24‘x6_1
+ 264‘x5_2 — 118x5_1 + 4‘2.X4_1 — 96X3_1)




10118:

Veven = X10.118

Vodd = TV10.118

U2

V3 0

V4 —3X5, + 2x57 — 3x41 —3%34
Usg 0

1
Ve = (108x7; — 25x76 + 14275 — 32273 — 25%7

+ 24x, 1 + 31xg3 + 59x5, — 50x4 4
+ 402x:, —173x5 1 + 51x,; — 138x3 1)




Vodd = TV10.119

o s
.

Vo —X3.1

V3 0

Vy 3Xc oy — 2Xc1 +4x4q4 + 3X34

Vs : + V62 — 2Y61 — 2Y52 + ¥s5.1)

Ve 5 (—120x77 + 30276 — 2875 + 2873 + 26X75
— 16x, 1 — 10x53 — 78x¢5, + 56x¢ 1
— 352xc, + 146xc 1 + 2x4 1 + 144x3 )




1050: Q :
Veven — X10.120 @) 2

Vodd = TV10.120

Vo 6'7(:3.1

U3 +13y34

Vy —9x5, + 8x54

U4: +(14y62 —19y61 + 8Y52 — 6y51 — 12y34)

Vg —34x7 7 + 34x76 —8x75 + 8x73 — 11x7,
+ 14x53 — 42X, + 26x61 — 55x5 5
+ 20xc 1 +9x,1 + 18x34




J\f"\

veven - x10.121

Q
Vodd = TV10121 \<

10121:
G

Vo X3.1
v3 i2y3.1
V4 X5q1 — 3X41 — 5X31

Vs +(4Y62 — 3V61 — 3Y52 + Y51 + 3V3.1)

1
3 (88x7, — 4x76 + 24x,5 — 24x73 — 28x,

+ 16x7_1 + 28x6_3 + 52x6_2 - 40x6_1
+ 312x5_2 — 14‘0.9(5_1 + 28X4_1 — 120.'X'3_1)




1012;: C\

Veven = X10.122 M

Vodd = TV10.122

Vo ZX3_1
V3 +2y34
V4 Xsp — Xs1 +3x49 +6X34

Vs +(4y62 — 6Y61 — 4Ys2 + 2Y51 — 2Y31)

1
3 (—156x; 7 + 43x5 ¢ — 42x7¢ + 40x, 5 + 27x7

— 16x51 — 5xg3 — 137x45 + 70x4 4
—422xc5 + 143xc 4 + 95x, 1 + 318x3 )




10423

Veven = X10.123

Vodd = TV10.123

Vo _2x3.1
V3 0
Vy Xco —Xsq1+ 5x41 +4x34
Vs 0
Ve %(76957.7 —17x76 + 14x75 — 24x73 — 17x7;
+ 16x, 1 + 15x53 + 59x¢, — 34x4 4
+ 274xs, — 117x< 1 + 35x,1 — 90x5 ;)




10424

Veven = X10.124

Vodd = TV10.124

Vo 8'7(:3.1
V3 +20y34
Vy —14xc, + 14x51 — 6X3 4

U4: +(21yg — 28y61 + 14y5, — 14y51 + y31)

1
Ve g (7364277 + 413x76 — 126375 + 56173 — 1477,

+ 56x7_1 + 24‘5x6_3 - 511x6_2 + 266x6_1
- 266x5_2 - 7x5_1 + 385x4_1 + 330x3_1)




10125:

Veven = X10.125

Vodd = TV10.125

Vo 3X3 1
VU3 0
V4 —9%s5, +4x51 + 9x34

Vs +(6Y62 — 8V61 — 6Y52 +3V51 + V3.1)

1
3 (—124x, 7 + 13x5 ¢ — 46X, + 16x, 5 + 13x,,

+ 8X7_1 + 85x6_3 — 111X6_2 + 26x6_1
— 106xs, — 7xs 1 + 265x, 1 + 258x3 1)




2

10126:

0%

Vodd = TV10.126

Vo SX3_1
V3 +9y31
V4 —OX5o +4x5 1 + 3%y + 6X34

Vs | +(10yg, —16Yg1 — 6Ys2 + Y51 — 2y34)

1
3 (—=252x, 5+ 109x, , — 78x5 ¢ + 56x7 3 — 19x- 5

+ 8x71 + 149x, 3 — 263x5 5, + 90x4 4
— 234xc, — 15xc 1 + 449x, 1 + 450x5 1)




10127: (%) oL

Veven = X10.127 q)

Vodd = TV10.127

[ ) X3.1

U3 +Y31

V4 —2X5) — 2X51 +8x41 +19x3,

Vs | +(5Y62 +4Y61—4Ys2 — ¥s1 + 25y31)
Vg

1
3 (52x7 5+ 29x,, — 14x5 < + 8x,3 — 19x,

— 8x7_1 + 13x6_3 + 81X6_2 + 1Ox6_1
+ 22x5, + 81xc; — 247x, 1 — 294x5 ;)




Veven = X10.128

Vodd = TV10.128

0w () 959
rd
S

U3 7X31
V3 +17y34
Vy —6X5, + 9x51 — 8x34

Vs +(12y6, — 16Y61 + 4y52 —9ys51 + 12y34)

1
3 (—184x,, + 218x,, — 36X ¢ + 44x7 3 —90x- 5

+ 16X7_1 + 114x6_3 - ZSOX6_2 + 144x6.1
— 184x5, + 14x5, + 118x4, + 120x5,)




10200 (G )R
Gﬁﬁ@

Veven = X10.129 i
Vodd = TV10.129

Uy 2X3 1

U3 +¥31

V4 —4X57 + 2Xx51 — X471 +3%34

Us +(7Y62 — 9Y61 — 6Ys52 + 35 1)

Vg %(—16x7_7 4 25 ¢ + 4xc + 4x5 5 — 10x, 5 + 34%44
—10xg5 + 32x5, — 26X 1 + 46x, 1 + 8x34)




10430 /_p

Vodd = TY10.130 W

Vo 4x3.1
VU3 i6y3.1
Uy —3X52 +2X51 +3X41 + X34

Vs +(9y62 — 14y61 — 8y52 + 3Y51 — 2y3.1)

1
Ve 5 (=224x77 + 7476 = 60x75 + 52x73 — 10x7

+ 106x6_3 — 226x6_2 + 80x6_1 — 232.'X'5_2
— 2x51 + 366x, 1 + 408x5 )




10131: Wp+ a0
+ \Q 2
A
Veven = X10.131 W
Vodd = TY10.131

Vo 0

VU3 +2y3.1

Uy —Xs5p — 2X51 + 7x4q + 15%34

Vs +(3Y62 +4Y61 — 2Y52 — Y51 + 16Y31)

1

Ve 5 (24277 + 1876 — 12075 + 4275 — 18375
+ 18xg3 + 38x5, + 16X, 4 + 72x5 5
+ 14xc , — 138x, , — 184x5 )




1043, C@gg (@)

Veven = X10.132

Vodd = TV10.132

Vo 3'7(:3.1

VU3 i5y3.1

V4 _ X5.1

14 +(6Y62 — 8Y61 — 6Y52 + 2¥51 + ¥3.1)
Ve

1
g (_8OX7_7 + SOX7_6 - ZOX7_5 + ZOX7_3 - 10x7_2

+ 50x53 —90x5, + 40x, 1 — 80x5 5
—2xc1 +110x,; + 120x5 ;)




10133:

Veven = X10.133 O
Vodd = TY10.133
O O

Vo X3.1

V3 0

Vy —X52 — X549 + 4%47 +10x3,4

Vs +(3Y¥6.2 + Y61 — 3¥s5.2 + 13y3.1)

1
Ve 3 (10x76 — 20x75 + 4x735 — 2x75 + 2x63 + 6X¢
+ 16X61 — 8x5, +38x51 — 74x,4 — 72x34)




10134_: Q{p@
Veven = X10.134 /- Q {

Vodd = TV10.134

O O
V2 6x31
U3 +13y34
V4 —9x:, + 8xc ¢
Vs +(14y62 — 19y61 + 8ys2 — 6¥51 — 12y54)
Ve

1
§ (_160x77 + 24‘2x7_6 - 36x7_5 + 36x7.3

— 114x5, + 16x, 1 + 122x,3 — 250x
~+ 152x6_1 — 883(5_2 + 14‘x5_1 + 78X4_1)




10435: C/\q :
oet

Veven = X10.135

Vodd = TV10.135

Vo §X3_1

VU3 +y3.1

Vy —7X55 + 3%X51 + X414 +9%34

14 +(3Y62 — 4V61 — 2Y52 + V51 — ¥3.1)

1

ve 8 (—104x77 + 2x76 — 20x75 + 20x73 — 2x7;
+ 66x53 — 82x5, + 16X — 72x5 5
— 18xc, + 214x, 1 + 200x5 1)




Veven = X10.136

104, \{

Vodd = tY10.136

O O
Vo 0
V3 in.l
Vy _ 2x5_2 — X5.1 + X4.1
Vs . +(4Y62 — 5Y61 — 4Ys52 + 2Ys5 1)
Ve 8 (—44x77; + 23x76 — 18x75 + 8x73 + 7x7;
+ 7xg3 — 45x6 + 22x61 — 94x5,
+ 27x5_1 + 4‘3.X4_1 + 86X3_1)




10437: R~ O
137 % ) w

Vodd = TV10.137 B

v, —2X3 1
V3 +2y3,4
Vy —4X5, + X549 +4X4q + 7X34
Vs t(Ve2 + V61— 3Ys2 + Y51 +4y31)
Ve %(12957.7 — 17%76 + 6X75 — 9x72 — IXe3 + 3Xg2
+ 14x,, + 66x5, — 21xc; — 45x, 1 — 58x3 1)




1034: (ﬁ) w

Vodd = TV10.138

172 _SX3_1
V3 +2y34
Vy —5X5, + X591 +8x41 + 12x3,
Vs +(2Y62 —5Y61 + Y52 — 4Y3.1)

1
3 (20x77; — 25x7¢ + 6x75 — 8x73 — 17x7,

+8x71 — Xe3 — SXg2 + 30x61 + 194xs5
- 77x5_1 - 4‘5x4_1 - 106X31)




10139: : :

Veven = X10.139 C\)

Vodd = TV10.139

Vo 9'7(:3.1
U3 +25y31
v4 _6XS_2 + 14x5_1 - 21x3.1

Vs | (962 — 12y61 + 6y5, — 20y5.1 + 54y5,4)

1
g (—18OX7_7 + 179X7_6 — 66X7_5 + 24‘X7_3 — 61X7_2

+ 56x, 1 + 123x53 — 241x5, + 118x4 4
—102x5, — 89xc 1 + 223x, 1 + 270x5 1)




101401

Veven = X10.140

Vodd = TV10.140

vz 2'7(:3.1
v3 i4y3.1
Vy Xsp + X591 —3X41 — 6X34

Vs +(6y62 — 6Y61 — 6Ys52 + 2y51 +4y31)

1
3 (—36x7; + 51x7 ¢ — 10x, 5 + 8x73 — 5x7;

+ 35x6.3 - 4‘9x6.2 + 30x6_1 - 62X5_2
+ 15x5_1 + 15.X4_1 + 14X3_1)




1014_1:

Veven = X10.141

Vodd = TV10.141

Vo .
U3 V31
Vy x5, —3Xx51 + 6X41 + 6X34

Vs +(5Y62 — 4V61 — 2Y52 + V51 + V3.1)

1
3 (12x77, — 13x76 + 14x75 + 3x7, — 8x74

— 21xg3 + 55x5, — 10x5 1 — 38x5 5,
+ 39XS_1 — 81X4.1 — 66X3.1)




1014_2: (K\?

3
+\ 4 3
=y
Veven = X10.142 \_) @
Vodd = TY10.142

Vo 8X3_1
V3 +21y34
Vy —2X55 +9%51 +3x41 — 12x3,

Vs +(6y62 — 13y¢1 — 12ys5; + 32y34)

1
3 (—148x7 7+ 179x, , — 42x7c + 56x753 — 77%x7 5

+ 16x7_1 + 99x6_3 — 193-’)6'6.2 + 110x6-1
—166x5, — x4 + 87x41 + 110x5 )




10143: (\m
. (’— _
Veven = X10.143 +*+/\)9

Vodd = TV10.143

Vo 3X3_1

U3 +5Y34

Vy —3X5, +3X51 —3X41 — 3X34

Vs +(8Y62 —8Y61 —4Ys2 + ¥y51 + 2y34)
Ve

1
g (_68x7_7 + 51X7_6 - 18X7_5 + 8X7_3 - 13x7_2

+ 8x7_1 + 67x6_3 — 89x6.2 + 38x6-1
— 6x5, — 33x51 + 119x,; + 78x3;)




1014_4_:

Veven = X10.144

Vodd = TV10.144

172 _ZX3_1

V3 +2y34

Vy 3x5, —3x51 +9x44 +10x54

Vs | +(8ygr —6Y61 —4Ysy + 2y51 + 2y34)
Ve

1
3 (4x77 — 13x56 — 10x75 — 8x,3 + 19x;,

- 13x6.3 + 47x6_2 + 6x6.1 - 38X5_2
+ 55x5_1 — 89X4_1 — 82X3_1)




10145: CON
Veven = X10.145 \

Vodd = TV10.145

V2 5X3.1

V3 i12y31

Vy 8X52 + X571 — X471 —15x34

Vs +(2Y62 — 4V61 + 12y5, + 2y51 — 36y31)

Ve |—Xy7 —3Xy6+ X73+4X75— Xg1 — OXs5
— 3x5q + 6Xx414 + 13%34




1014-6:
,Q

+

Veven = X10.146

Koo
e d

Vodd = TV10.146

Vo 0
VU3 0
V4 —3X5, + 2Xx51 —3X41 — 3X34

Vs +(5Y62 — 6Y61 —4Ys2 + 2Y51 + V31)

Ve | 7X77 = X761 3X75 —X73 = 2X72 + X3 t 06X
—3%x61 +15x5, — SX59 — 6x41 — 15x3,4




1014_7: +(\{
Veven = X10.147 \—‘J Q

Vodd = TV10.147

C
() —X3.1
V3 0
Vy 3Xc oy — 2Xc1 +4x4q + 3X34
Us + V62 — 2Y61 — 2Ys52 + ¥s5.1)
Vg —X77 t Xep T X414




1014s: <

Veven = X10.148 C\)

Vodd = TV10.148

V2 4x31

V3 i7y3.1

Vy —3X5, + 3X51 + X34
Vs +(6Y62 — 8Y6.1 — 3V5.2)
Ve

1
g (—88x-5, + 50x, ¢, — 28x,c + 16x, 3 — 14x,,

+ 8x7.1 + 74x63 — 102x6; + 3663
— 28x5, — 30x51 + 178x, 1 + 140x3,)




1014_9: C\/D

Veven = X10.149 -

Vodd = TV10.149

3 2
Vo ZX3_1
U3 +2y34
Vy —X5q +4x47 +9%x34
Vs +(4y62 — 2y52 + 12y3 1)
Ve

1
3 (8x77 + 2x7¢ — 12x75 + 8x73 + 2x75 — 8x74

— 6Xg3 + 34x62 + 4Xx61 — 52X5
+ 74xs, —110x,; — 108x53 ;)




10150: C<\_J+/>
A
(\t})
Veven = X10.150 ~ Q £

Vodd = TV10.150

O O

U3 X3.1

U3 Tys34

Vy 3Xc o — 2Xc 1+ 3X4q +4X54

Vs ) +(2y62 + 2y52 — Y51 + 2y31)

v6 § (20X7.7 - 9X7_6 + 14‘x7.5 + 4‘x7_3 - 5x7_2
—8x71 — X3 + 47x6, — 14xg 4
+ 6xc, + 15x5; — 65x,1 — 70x3 1)




10151:

Cf |

Veven = X10.151

Vodd = TV10.151

Vo 3X3_1

V3 +4ys3,

Vy —3X5, + 2X51 + 3X34

Vs +(2Y62 —3Y61 — Y52 — 2Y3.1)
Ve

1
3 (—44x;7, + 7x76 — 18x75 + 4x73 — 5x7,

+8x7.1 +47x63 — 49%6, + 10x44
+ 46x5, — 41xgq + 127x, 4 + 74%54)




10452 (2S)

Veven = X10.152

Vodd = TV10.152

3 2
Vo 7X3_1
V3 +15y3,4
V4 —21X5_2 + 13x5_1 + 3.7(,'4_1 + 133('3_1

Vs | +(28yg, —44ye1 + 22Y5, —8ys1 — 57y341)

1
Ve 5 (—452x77 + 639x7,6 — 202x7 5 + 88x; 3 — 2417,

+56x71 +359%¢3 — 685x6, + 398x4 4
— 286x5_2 + 99x5_1 + 315X4_1 + 62X3_1)




Vodd = TV10.153

10453: EID) N
SRS
L]

Vo 4‘.7(,'3_1

V3 +v3.1

Vy —12x55 + 5x51 + 3x41 + 16Xx34
Vs + (V62 — Y61 — 2Y52 + Y51 + 2y34)

1
g (—264‘x7_7 + 12.X7_6 — 7ZX7_5 + 4‘4‘X7_3 + 8x7_2

+ 8X7_1 + 148x6_3 — 224x6_2 + 4‘4‘x6_1
— 188xc, — 40x<; + 560x,; + 524x5 )




10154_: ;

Cf“‘"

Veven = X10.154

Vodd = TV10.154

Vo 5X3_1

V3 i9y3.1

V4 —11x5_2 + 6x5_1 ~+ 3X4_1 + 123(,'3.1

vy | +(12y65 — 2264 +12y5, — 3ys1 — 40y3,4)

1

Vg 5 (—164x7; + 281x; 6 — 70x75 + 48173 — 1277,
+ 8x7_1 + 129x6_3 — 259x6_2 + 186x6_1
— 122x5_2 + 109x5_1 — 59X4_1 — 190x31)




10155:

Veven = X10.155
Vodd = TY10.155

172 :ZX3_1

U3 +2y31

Vy 3x5, —3x51 +9x44 +10x54
Vs +(3Y62 + ¥3.1)

Ve

1
§ (8x7_7 + 2x7_6 + 12X7_5 + 2X7_2 — 8x7_1

— 6Xx53 + 58xg 5 +4x51 — 52x5,
+ SOXS_]_ - 110x4_1 - 100x31)




[ ) X3.1

V3 +y31

V4 —3X5, + 2X57 — 3Xx41 — 2X34

Us +(2Y62 — 4V61 — 4Ys2 + 2Ys51 + Y3.1)
Vg

1
3 (68x,7; — 25x7¢ + 14x75 — 20x73 — 5x7;

+ 8x71 — Xg3 + 55xg, — 30x4 1
+ 166xs, — 49xc; —41x,; — 118x5 ;)




10157:

Veven = X10.157

Vodd = TV10.157

U3 4x3 4
V3 +8ys3 4
Vy x5, + 2X41 — 2Xx34

Vs +(5Y62 —4Ve1 + 2Y52 + 2y51 — 7Y31)

1
3 (—4x;7; — 25x7¢ — 10x7 5 + 8x73 + 23x7,

— 8x71 — 33%63 + 19%65 — 2x6 1
—94xc, + 75x5; — 61x,; — 18x3 )




10158:

Veven = X10.158

Vodd = TV10.158

Vo _3x3.1

V3 +y3.1

V4 Xc oy — 2x5_1 + 11X4_1 -+ 12.7(,'3.1

Vs : +(2y62 — 4V61 — 2Y52 + V5.1)

Ve 5 (73677 + 15x76 — 2x75 + 4x75 + 11x7,
—8x71 — Xe3 + TX62 + 42x61 — 130x5,
+ 79x5_1 - 97x4_1 - 54‘.7(3_1)




10459 C-@

Veven = X10.159 \_)
Vodd = tY10.159

Vo 2'7(:3.1
VU3 i3y3.1
Vy —2X5 + 2X51 — 3X41 — 3X34
Vs . +(2y62 + Y52 — V51 +V31)
ve 8 (44x77 — 9x76 + 14x75 — 16x73 — 9x7;
+ 8x71 + 7xg3 + 27%x¢, — 18x¢ 4
+ 138xc, — 53x5; — 5x,, — 66X3 1)




10460: +
Veven = X10.160 \

Vodd = TV10.160

Vo 3X3_1
V3 +6ys3 4
V4 7X55 — 2Xs51 + 2Xx41 — 3X34

Vs +(2Y62 = Yo1 t 7Y52 — V51— 9Y3.1)

1
3 (—12x77 — x76 — 2%75 + 12x53 + 11x;,

—8x71 — 17xg3 — Xg2 + 2X61
— 74x5_2 + 31x5_1 — 9X4_1 + 4‘2X3_1)




10161:

Veven = X10.161

Vodd = TV10.161

Vo 7X3_1

V3 +18y34

V4 3x57 +6x51 — 17x34
Us +(6Ys, +9ys1 — 45Y31)

1
§ (_ZSX7_7 + SX7_6 + Zx'7_5 + 16x'7_3 + 5x7_2

+ 8x7.1 + 13x6.3 - 23x6_2 + 10X6_1
— 58x5_2 — 31x5_1 + 33X4_1 + 98x3_1)




i O3
CESO Y
&

Veven = X10.162
Vodd = TV10.162

Vo —3X3 1
U3 +4y34
v4 _BXS_l + 15.X4__1 + 21x3.1

Vs +(6Y62 + Y61 — 3Vs52 + V51 + 7y3.1)

1
3 (32x77 + 10x7 6 — 4x75 — 12x73 + 6x7,

+ 2x6.3 + 78x6_2 + 4‘0x6.1 + 16x5.2
+ 62xc 4 — 258x, 1 — 264x5 1)




10163:

Veven = X10.163

D

Vodd = TV10.163

[ ) X3.1

U3 +2y34

V4 +X51 — 3X41 — 5X34

Vs + (V62 —3Y61 — YVs2 t V51— 2¥31)
Vg

1
3 (68x77; — 17x7¢ + 14x75 — 20x73 — 5x7;

+ 8x71 — X3 + 55xg, — 30x¢4
+ 166x5_2 - 4‘9x5_1 - 4‘1X4_1 - 126X3_1)




10464: m
NoOgA
Veven = X10.164 w

Vodd = TV10.164

vz X3.1
v3 0
Vy —OX5, +3x51 —4xX41 — 2X34

Vs +(5Y62 — 6Y61 —4Ys2 + 2Y51 + V31)

1
3 (24x77 + 2x76 + 12x75 — 4x,3 — 10x,,

+ 26X53 + 22X55, — 8Xxg 1 + 64X5 5
— 18x51 — 34%44 — 96x3,4)




10165:

Veven = X10.165

Vodd = TV10.165

Vo 2X3_1

U3 +3y31

Vy Axc, —2Xc1 +3XxX44 + 3Xx34

Us +(7Y62 —6Y61 — Y52+ Y51+ 2Y31)
Vg

1
3 (104x5 5, — 62x7 ¢, + 20x,c — 20x7 53 + 6X7,

— 46x545 + 126x5, — 56X, 1 + 168xc 5
—10x5,; —130x, 1 — 192x3 )




